S WV VG W W W

\
\

é\\\

0 Neme Trinity 428x390 44 U G0377

o
| Drawing/Zeichnung 3D Format
\&1

Profile/Profil 44)(135 Scale/MaRstab Date 16022024




100]

L

3612
3900
3700
3612

4500

100

400 | 4h

I,

L 4480 )
l100,4 3992 100140
100 4280 b
) 4080 )
1 3992

N
|
|
|
|
|
|
|
|
|
|
|

]

a0

100

| Wl | "
| |
| |
| |
| = 1442 m2 = 3
| g
| |
| |
| |
D4Y90-LT
‘ 363.5x195 ‘ .l
Wi T E
e _ )T i
\200 iEQQ
1084 3705 bh 100
100144 144100 °
0o Nome Trinity 428x390 44 U G0377
h a n Sa 24 g Drawing/Zeichnung Plan_G ru nd pla n Format Ad
vww.hansa24.com 0 Q
Profile/Profil 44)(13 5 Scale/MalRstab 150 Date 16022024




n

o

3680

4060

AT1

AT2 N 2
AT3 S =]
AT3 S 5
AT3 ”“ <
) < Ot
&y S
AT3 ! 2
AT3 S“ e
AH "=
0o e Trinity 428x390 44 U 60377
hansa 24{38 Prowne/zecinine - Foundation plan_Lagerholzplan Format AL
aww. hansazd.c i Profile/Profil 44)(135 Scale/MalRstab 150 Date 16022024




5 Model 5 Profile |Lengfh
0s Trinity 428x390 &b Sl mm) | (mm)
Notice! The gable pieces can be parfly pre-assembled!
Please natice - thase differ from the descripfion given in the specificafion list.
Achtung! Die GieBelbohlen konnen feilweise schon varmontiert sein!
Biffe beachfen - diese erscheinen nichf ganz so wie in der Teileliste beschrieben.
\/— Cutinfo length an site (if needed)! / Bitte selber anpassen (falls nofig)!
004 WDO:Oﬁ 3992 spare log/Ersatzteile QJOJO 1 L4 x135 1280
001 &y 23 5 1] &6x135 | 4480
002 | o 2 2 il 1| Lhxi2 | 4L8O
003 | g iy - = 1] 44x125 | 4480
004 T 7 il 16 | LLx135 | 4280
005 - S 2 | LLx135 | 4250
006 [ a = 2 | Lix68 | 3900
007 & s il 30 | 44x135 | 3900
008 — 2 | 64x135 | 2637
009 i 30 | 44x135 | 287
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT? ) 7 TOxL5 | L060
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impraaniert)
AT3 ‘ 6 T0x45 | 3920
FOUNDBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
ATI 2 TOx45 | 3540
PURLINS - PFETTEN
PR - L i Lo| 70x145 | 4480
ROOF BOARDS - DACHBRETTER 2/ /5 L0+ 113x18 | 506
FLOOR BOARDS - FUSSBODENBRETTER 2/ /5 136+1 13x18 | 3607
‘ ‘ 39
Ceiling mouldings - Deckenleisten (inside and autside - innen und aufien) \/ é 1528 cm/LEm
‘ ‘ 16
Floor mouldings - Fussbodenleisten \/ VA 18x 40 /L
LA | Eave board - Traufenbrett 18x120 v7777777A | 1| 18x120 | 4516
RLA | Eave board - Traufenbreft 18x95 777772 | 1| 18x95 | 4480
REL | g lat - Traufendeckleiste 18x40 vV 8 6
01-1 ave caver slat - Traufendeckleiste 18x 1 18x L0 457
RLIOT-1| Eave slat - Traufenleiste 18x40 \/ ) 18x L0 W:/gﬁm
Kood  Trinity 428x390 &4 Mater jal ‘ File  GO377 Trinity L28x3F©eﬂnd@ dwd/ 3



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
1/3

AutoCAD SHX Text
G0377 Trinity 428x390 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4480

AutoCAD SHX Text
200

AutoCAD SHX Text
3992

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x42

AutoCAD SHX Text
4480

AutoCAD SHX Text
200

AutoCAD SHX Text
3992

AutoCAD SHX Text
200

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x125

AutoCAD SHX Text
4480

AutoCAD SHX Text
200

AutoCAD SHX Text
3992

AutoCAD SHX Text
200

AutoCAD SHX Text
004

AutoCAD SHX Text
16

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4280

AutoCAD SHX Text
100

AutoCAD SHX Text
3992

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4250

AutoCAD SHX Text
450

AutoCAD SHX Text
3612

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3900

AutoCAD SHX Text
100

AutoCAD SHX Text
3612

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
30

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3900

AutoCAD SHX Text
100

AutoCAD SHX Text
3612

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2637

AutoCAD SHX Text
500

AutoCAD SHX Text
2093

AutoCAD SHX Text
009

AutoCAD SHX Text
30

AutoCAD SHX Text
44x135

AutoCAD SHX Text
287

AutoCAD SHX Text
100

AutoCAD SHX Text
143

AutoCAD SHX Text
AT2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4060

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3920

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3540

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
4

AutoCAD SHX Text
70x145

AutoCAD SHX Text
4480

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
3992

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
40+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
4506

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
36+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3607

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten (inside and outside - innen und außen)

AutoCAD SHX Text
15x28

AutoCAD SHX Text
39

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
16

AutoCAD SHX Text
Eave board - Traufenbrett 18x120

AutoCAD SHX Text
1

AutoCAD SHX Text
18x120

AutoCAD SHX Text
4516

AutoCAD SHX Text
RLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Eave board - Traufenbrett 18x95

AutoCAD SHX Text
1

AutoCAD SHX Text
18x95

AutoCAD SHX Text
4480

AutoCAD SHX Text
RLA

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave cover slat - Traufendeckleiste 18x40

AutoCAD SHX Text
1

AutoCAD SHX Text
18x40

AutoCAD SHX Text
4516

AutoCAD SHX Text
RKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
9.96

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4280

AutoCAD SHX Text
100

AutoCAD SHX Text
3992

AutoCAD SHX Text
100

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
- Cut into length on site (if needed)! / Bitte selber anpassen (falls nötig)!


Pos - Model Pee Profile |Lengfh
Trinity 428x390 44 (mm) (mm)
VLA | Gable board - Giebelbrett 18x120 077777773 | 2| 18x120 | 4524
XWK—LW Gable cover slat - Giebeldeckleiste 18x40 \/ 2 18x 40 L5
LK Hit block - Schlagholzer [E 3
2N57003 Nails - Nagel 25x60 for floor boards - fur Fussbodenbrefter <————— |504
2Ngfoo1 gjiclhsb—reNﬁift vierkant 2.5x50 for ceiling boards - fur 0 480
é%é? Screws - Schrauben 3.0x30 for ceiling mouldings - fur Deckenleisten — wwwwwes( | 772
égég Strews - Schrauben 3.0x30  for eave slafs - fur Traufenleisten i A
é%{dg Ejrgesﬁjd—ei;h;aeuﬂben 3.0x30 for floor mouldings - fur s | 32
éé{ié) %E;i?;@éﬁ:;imen 3.5x45 (3 for eave Boards - fur 11 20
é?ig %E;i?;méesﬂgiufbeemm 3.5x45 (3 for eave caver slafs - fur 1| 10
égig éferggéréTSTceirauben 35x45 (3 for gable boards - fur 11 20
égi? éicerbeewlze—[icg;aeu:em 3.5x45 (3 for gable cover slats - fur 1| 20
Egég Screws - Schrauben 5.0x100  for foundation beams - <H L0
fur Fundamentholzer
KL1 | Threaded rod - Gewindestange M8 L 2000
KL2 | Threaded rod - Gewindesftange M8 2 367
KL3 | Threaded rod - Gewindesftange M8 2 180
Nut - Mutter M8 @:l L
Washer - Scheibe M8x24 L
Extended nut - Langmutter M8 L
Drive-in nut - Einschlagmutter M8 Q)'- A

Kood  Trinity 428x390 &4 Mater jal

File  GO377 Trinity L28x3F©eﬂnd@ dw@/3



AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
4524

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
2

AutoCAD SHX Text
18x40

AutoCAD SHX Text
4524

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
2/3

AutoCAD SHX Text
G0377 Trinity 428x390 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
504

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
480

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
72

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3526

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave cover slats - für

AutoCAD SHX Text
Traufendeckleisten

AutoCAD SHX Text
10

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
40

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
367

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
180

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4


Model

Profile |Lengfh

Pos Trinity 428x390 &b SV ) | )
DOOR 3635x1950 1
BO-UXXL-0XT-36351950
3635
D490-LT
Left handed - DIN Links
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen
2 i
DF49 | Door frame for D490 - Turrahmen fur D490 1
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur (| e
3524 | Tur-und Fensterleisten
Kood  Trinity 428x390 &4 Mater jal File  GO377 Trinity L28x3k©eﬂnd@ dwg/3



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
3/3

AutoCAD SHX Text
G0377 Trinity 428x390 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Trinity 428x390 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 3635x1950

AutoCAD SHX Text
 D0-UXXL-0XT-36351950

AutoCAD SHX Text
1

AutoCAD SHX Text
DF49

AutoCAD SHX Text
Door frame for D490 - Türrahmen für D490

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
46


Eaves cover strips
Traufendeckleisten
Roof boards
Bachbretter

Eaves strips
Traufenleisten
Eaves boards
Traufenbreffer

Roof boards
Dachbrefter
Eaves boards
Traufenbrefter
Eaves strips
Traufenleisten

Wall Logs

Wandbaohlen
loor Mouldings

Fussbodenleiste

i}

Floor Boards
Fussbodenbreffer
Foundaticn Beams
Fundamentholzer

4300

4506 3756

|
R
[

2,9°

2431

Wall/Wand A Tt;ggggf

-oop

007

0q7

| 3612

AT17

007

] 007

007
007
007
007
007
007
007
007

007
006

| 3656

3900

00

2363

hansa2

<

RO

‘OOD-

~

Name

Trinity 428x390 44

SKU Go

377

Drawing/Zeichnung

Wall/Wand A

Format

A4

Profile/Profil

4.4x13.5

Scale/MalRstab

1:50

Date

16.02.2024



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2


4300

4506 3756

— 008 ]
at =[] o] 05
= 007
007
007
007
007
007
007
007
007
007
007
007
007
007

007
006

i

=l

2363

AT T T T T T T T T T T T T

Wall/Wand B va

AT17

1 3612 il

| 3656 |

3900

ame Trinity 428x390 44 " G0377

DO
00

Drawing/Zeichnung Wa | |/Wa n d B Format A4

hansa2

30

P

Profile/Profil 44)(135 Scale/MaRstab 150 Date 16022024



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2


Gable cover boards

Giebeldeckleisten
Roof boards
Dachbretter

Gable boards
Giebelbretter

Roof beams
Dachbalken

4480

H Hl 004
H Hl 004
H Hl 004
H Hl 004
H ml 004
H nll 004
H nll 004
H Hll 004
H Hl 004
H Hl 004
H Hl 004
H Hl 004
H Hl 004
H ml 004

Wall/Wand 1 o i AT —

T
i
T
i
2160

il 3992 i

| 4036 |

4280

ame Trinity 428x390 44 " G0377

Drawing/Zeichnung Wa | |/Wa n d 1 Format A4

DO
00

hansa2

o
o

Profile/Profil 44)(135 Scale/MaRstab 150 Date 16022024



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


4480

‘ 200 KL1+KL?2
KL1+KL2 200 )

i lipRl
S o,

il HIl 009
1 000 | HIl 009
1 0609 | HIl 009
i 069 | HIl 009
111 009 [ HI] 009
1 509 [ H[] 009 m
TH] 009 1T 009 g
[[H ] 009 @ [ HI] 009
i 06 s | HIl 009
1 000 | HIl 009
1 000 | HIl 009
1] 0600 | HIl 009
i 069 | HIl 009
111 009 [ HI] 009
i 509 | HIJ 009

H | 009 [_HI] ]

Wall/Wand 2 7F* L
] 3705 [
Ut L4 100
100 LL 144
| 4036 |
® 0
4280
SKU
0 Nome Trinity 428x390 44 G0377
h a n Sa 24% Drawing/Zeichnung Wa”/Wahd 2 Format Ad
4 AN
www.hansa24.com 0Q Profile/Profil 44)(135 Scale/MalRstab 150 Date 16022024



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


